Econ 200

Spring 2005

EXAM 1

Professor Leffler


TA grading guide.  Strive for an average of 13-15 on each question.  Read at least ten answers before settling on your scoring system.  For each question you grade, prepare a summary of how you graded, examples of good approaches and errors students made.  This must be given to me (in electronic format) by Wednesday evening.  I will then post it on the website for the students to read.  Below I provide some comments to guide your grading.

Students - if you have a concern about my answers, let me know why, and I will consider.  You must do this today, Monday, so that any changes back it to the graders.

1.  The following are the indifference schedules for Sam and Mike.  Each currently has combination D.

      Sam
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         Drinks
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1
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         Money
6
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         MV
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     Mike
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         MV
     12
     18
     20
     22
     24
     26
a.  Who likes drinks more?
Like - to be pleased with, enjoy - Webster’s Dictionary.  Like is not an economic concept and we have no way of telling who “enjoys” drinks more.  We can only say that, compared to money, and given their current combinations of drinks and money (d), Mike will give up more money to get another drink.
b.  Do Sam and Mike satisfy the postulates?
They satisfy postulates one through 3.  Scarcity and substitution are shown by the fact that they will give up some drinks or some money to get more of the other.  Satiation is shown by them both having diminishing MV. 
c.  If Sam and Mike trade, do you expect Mike's marginal value of money to increase or decrease.
Since Mike had the higher MV of drinks, he will trade for drinks giving up money.  Hence after trade, Mike will have more drinks and less money.  The MV of money is the maximum amount of drinks Mike will give up to get another $.  Originally his MV$ is ~1/22 of a drink.  With less money and more drinks, the 3rd postulate states that MV of money will increase.
d.  If a middleman arranged the trade, what is the most drinks and the most money the middleman could charge?
Most drinks - 0.  There is no way to get any more drinks from Sam than the middleman would have to give Mike to get enough $ to make the trade.  To get two drinks from Sam, he must be given at least $26.  Sam will only give up $20 if you give him one drink.  To get three drinks from Sam, he must be given $42, Mike will only give up $38 if you give him two drinks.

Most money - $12.  By giving Sam $26, he will give up 2 drinks.  Mike will give up $38 if given 2 drinks.  The middleman could then have $12.  By trading 1 or 3, the middleman could only get $8. 
2.  Briefly comment on each of the following using the economic principles you have learned:

a.  The newspaper reported that two-thirds of all mothers who work outside the home “do it for the money, not by choice.”
We live in a world of scarcity.  Therefore we have to make choices and give up some of one good to get more of another.  Mothers choose to give up some time with their child to get food, clothing etc.  Of course they wish there wasn’t scarcity such that they didn’t have to make choices.
b.  Joe is buying 4 pizzas per week at $8 each.  His income rose by $8 per week but the price of pizzas became $10 each.  Other prices remained the same.  Is Joe indifferent about the income and price increase.
Joe is buying 4 pizzas per week at $8 each.  His income rose by $8 per week but the price of pizzas became $10 each.  Joe is indifferent about the income and price increase.  --  Joe’s increase in income would allow him to buy just what he bought before the price increase.  Thus he certainly cannot be worse off as he previously most preferred choice is still available.  However the Law of Demand implies that he reduce the amount of pizza he buys substituting into other goods that are now relatively less expensive.  Since he chooses something else when the previously most preferred is still available, he must prefer the new income and prices. 
c.  A seller that can choose whatever price it wishes will always set a price where demand is elastic.
This is correct.  If demand is inelastic then a price increase reduce the quantity sold while increasing revenue.  The seller therefore will have more of its own good and also more of other goods (dollars), by increasing the price unless demand is elastic.  
d.  A price control below the equilibrium price placed on basic human needs such as food, clothing and shelter will allow the poor to better compete for such essential goods.
The concepts of “basic human needs” and “essential goods” are not consistent with basic economic propositions - we prefer more and we substitute.  This applies equally to food and cars.  In addition, price controls alter competition to dimensions such as accepting lower quality, paying higher prices for other stuff, personal characteristics, and waiting.  There is not presumption that the poor are better suited to these forms of competition than to competing on the prices of food, clothing and shelter.

3.  Explain each of the following and give an example:

a.  Refutable propositions.
Statements of propositions that could in principle be wrong.  (Text page 10)  Example - it is raining outside.  (Not refutable - Jane has a pretty nose.)

b.  Diminishing marginal value. 
Marginal value - the maximum amount of one good a consumer will give up to more an additional unit of a second good.  Diminishing MV - the greater the amount of one good, given the amount of a second good, the lower the marginal value of the first good. Example - Sam and Mike in question 1.
c.  Inelastic demand.  
A small percentage response in quantity demanded to a given percent change in price.  (text page 79)  Or - the percentage increase in quantity demanded exceeds the percentage decrease in price that caused it.  Example - The price of apples increased from 10 cent each to 20 cents each.  Tim’s quantity demanded fell from 10 to 9.

d.  The second law of demand.
With passage of tim,e the response to a change in price becomes absolutely greater.  (text page 84)  Or the elasticity of demand increases the longer people have to adjust.  Example - If the price of gas increases today my consumption today will hardly change; but a year from now, I can move closer and get a different car and thereby cut way back.

e.  Economic efficient actions.
An action or change that makes one person better off without harming another.  Example - trading one drink from Sam to Mike in question 1.
4.  The dry winter and wet spring in Washington is expected to ruin about a third of the apple crop in Eastern Washington that will harvested towards the end of summer.  Washington produces about one half of the U.S. apple supply. 

a.  What would you expect to happen to the price of apples as a result of the bad weather?  
The quantity supplied will go down, which implies a shortage at the old price.  Buyer competition will therefore bid up the price.  When would you expect the price effect to be seen?
When would you expect the price effect to be seen?
The expectation of the higher prices after harvest will cause consumers to increase their demands now.  Given the current available supply, this increase in demand will cause the price to rise as soon as the low future harvest is known.

b.  Do you think Washington apple growers are better or worse off as a result of the wet spring?  What does it depend on?
Depends on the elasticity, that is, on how much the price increases as compared to the quantity decrease.  If the percentage increase in the price exceeds the percentage reduction in the quantity supplied, the apple growers will be better off.  Since the Washington growers will lose one third the crop, they require a price increase of greater than one third.  The change in the quantity supplied in the market will be one sixth (one third of one half).  Hence if the elasticity of demand for apples is less than (greater than) -1/2 (one third/one sixth), the Washington apple growers will be better (worse) off.

c.  Would you expect Washington pear growers to be impacted?  (The pear crop was not affected.)  If so how?
Pears are presumably a substitute for apples.  The increased price for apples will therefore increase the demand for pears which will increase the pear price.  Since the amount of pears is unchanged, the pear growers are unambiguously better off.

5.  a.     My wife recently did a weekly shopping at QFC.  She picked up stuff for a week’s 

dinners and lunches - spending $122.82.  On her way home, she stopped at Fred Meyer to pick up planting mix.  I had been telling her to shop for groceries at Fred Meyer because I had heard Fred Meyer was about five percent cheaper than QFC.  My wife decided to do a price check and she found that her groceries would have cost her about $6 more at Fred Meyer.  She, of course, told me that I sure didn’t know much about shopping and prices since she had shown that QFC had prices about five percent less than Fred Meyer.  Given my good understanding of the Law of Demand, should I be convinced that QFC is cheaper?
No.  She has “cooked” the experiment.  In deciding what to buy at QFC she will be responsive to QFC’s pricing. The Law of Demand tells me that the amounts of the goods she buys will be influenced by the prices she sees at QFC.  For example, if ground beef and asparagus is on special, I will be having hamburgers, spaghetti and lots of asparagus this week.  If the price of tenderloin is high, I will only be getting a small steak. When my wife then prices at Fred Meyer the quantities of stuff she bought at QFC, she is ignoring the fact that she would not have selected the same stuff if she had shopped at Fred Meyer.  She wouldn’t have purchased five pounds of hamburger since it is not on sale but would have switched to, for example, chicken since it is on sale at Fred Meyer.  The typical way price comparisons are done is by selecting a “random” basket of food prior to shopping.  We will then learn the relative costs of this basket.  The only true test is to compare the consumers’ surplus at the two stores. 

    b.    The current price of gasoline sold by refiners is about $2.25 per gallon.  Of this 40¢ is tax.

Assume the state government wishes to increase their revenue from the gas tax and it therefore increases the tax per gallon to $1.00.  Do you expect the amount collected to increase as a consequence of the tax increase?
Don’t know.  It depends upon how elastic is the demand for gasoline.  The increased tax will increase the price of gasoline and consumers will buy less.  If the percentage reduction in the quantity purchased exceeds (is less than) the percentage increase in the tax, the tax revenue will decline (increase). 
What will happen to the amount of tax collected over time after the tax increase?

The Second Law of Demand states that consumers response to the price increase will be greater as time goes on.  Hence, the amount the purchase will fall, and the government’s tax revenue will also fall over time.
6. The following is Mary’s demand for a particular prescription drug:

Price $ 

10
9
8
7
6
5
4
3
2
1

Demand

1
2
3
4
5
6
7
8
9
10

The drug sells for $6.  

a.  A drug insurance policy is available that offers the consumer fifty percent off the purchase price.  What is the maximum amount that Mary would pay for the policy?
$18.  The insurance policy cuts Mary effective price to $3.  She will buy 8 with the policy.  The policy increases her consumer surplus by $18 (=$15 from the saving on the 5 units she otherwise would have purchased for $6 and $3 from the additional 3 units purchased at the lower effective price.)  Hence, she would pay up to $18.   
b.  If the policy costs $15, would Mary prefer an alternative  policy for a $22 cost that allows her to buy the drug for $2 per unit?
Yes.  Mary would get a net surplus of $3 from the fifty percent off insurance policy if she has to pay $15 for the policy ($18 - $15).  The alternative policy would result in a greater net surplus of $4 obtained from the additional purchase surplus of $26 (=$20 saving on the 5 units she would otherwise buy and $6 from the additional 4 units she will buy at a price of $2.) minus the $22 cost.
